4500.0

4000.0

3500.0

3000.0

2500.0

2000.0

1500.0

1000.0

kHz

DI  10/02/2009 Churchill, Manitoba

ch09275!.ro00SUm max_12 Page 1

Linear Scale Black=161 White=15

‘ = = ————————
— = = s = = =
- = = RN, T e
e R e c—— - e S T
— — -
= s et
—— — ===
= N
= - = = — e
—
= = - e 2 = = =]
o —— — B — ey = = e
= = - —_ e e —— s
= T e aga PRSI I = e N St el = S R
AL T Tl = = -t = = B === e = ET R oeT =
e e T | = S = = — - = o i Pt o = o =
= e e e
— - = - TN ol e - y i g B~ e e — - ]
= = = = =—-TT-_—=e = e e e
—- — _— _




DI  10/02/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12 Page 2

4500.0 - e R R e HE

40000 -ttt

3500.0

3000.0

2500.0

2000.0

1500.0 ——=

1000.0 ' ==

kHz



D  10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12

L L T B e el e

e == e e -

| e e R e _pelngs.—aar: e o meSeecegs- § R n s e
- A PRI TE os olealili TN - il e TE-Ca e -0 DN D B RS D B D = - MPE R
T g =t i

m T = R
—— —=




D  10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12

T A U i B i ety S e ] o Bl S T

i e T TR R




D  10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12

L TR LARPG B4 58 oo 7B1% 30T KR4

SRR S Bl s 1 b




D  10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12 Page 6

e e A e e e e e e e e -]
=nis & Sengadgs, e e e B =
e AR T T e e | £ T e ST 1o as e : — =t : SRl —
4500.0 : L - I vl ubape S O St ST TR B el |- TR
————

LR R Py LA M I e T e T o T = | B R T,

r = s =m wop ST Faalint ""-u—.“ - - " - = ="

4000.0 : rAss IR $3 s s i

3500.0

3000.0 ; 5

2500.0

2000.0

1500.0

1000.0

500.0

kHz



I 10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12 Page 7

4500.0

4000.0

3500.0

3000.0

2500.0

2000.0

1500.0

1000.0

kHz



D  10/03/2009 Churchill, Manitoba

Linear Scale Black =161 White=15 ch09275l.ro00SUmM max_12 Page 8
45000 - e _ ST =
4000.0 -
35000 - - - . . i et i
3000.0 —_______J _____ = °F, e LT e A T T e e =
2500.0 -
2000.0 -

kHz



